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logarithmic M -data
=(Lo )%
= (logLo+ log

V L (0] M
http://130.149.60.45/~farbmetrik/ TE31/TE31LONA.TXT /.PS; start output

N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
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logM = -0,35U,~u.:]9
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Adaptation: A=
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Adaptation: A =
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TUB-test chart TE31; colour vision and colorimetry

logarithmic
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-saturation u, = (\ — 555) / 50
logLo=—0,35p,—u ]2
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Adaptation: A, =
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TE310-2N

-saturation u, = (A — 555) / 50
(Mo-Co)®® log i, = ~0,35[4,-u.]1
= (logM o+ log C)/2log C,, = 0,350, —Us.] 2
] Adaptation: A=

T—hreshold
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u, = (A — 555) / 50

. Bo log =-035L,-u ]2

=(log +log- )/2log . =-0,35u,~u ]
] Adaptation: A =
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u, = (\ - 555) / 50
logC,=-0,350,-u ]2
=(logCo+log )2 log =-0,35[,—u.:]?
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Threshold
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cone sensitivity and saturation for distafd@e-50
Y

logarithmic M .-data
=(Los )%
= (logLo+ log

u, = (A — 555) / 50
logLo=—0,35u,—u ]2
)2log = -0,35[,~Usd?
Adaptation: A, =
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Threshold
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TE311-1N

u, = (A - 555) / 50

= (Mo Co)™ logM = -0,35U,~u.:]9

= (logM o+ log C)/2log C,, = —0,350,—Us.] 2
Adaptation: A=

logarithmic

Threshold
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log S—=-1.9

$+-31 -11 0009
400 500 555600

2.9 u
7{)0)\/nm

TE311-3N

u, = (\ — 555) / 50
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Adaptation: A =
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logarithmic - -data NS
=(Co ) log©,=~0,35[,-u ]2
= (logCy+log )2 log =-0,350,—u.:]2
Adaptation: A- =

Threshold
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logarithmic
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-saturation u, = (\ — 555) / 50
logLo=—0,35u,—u ]2
)2log = -0,350,~Usq?
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= (logLo+ log
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570 Threshold
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logarithmic

TE311-2N

-saturation u, = (A — 555) /50
(Mo-Co)® log i, = ~0,3504,-u.]1
= (logM o+ log C)/2log C,, = 0,350, —Us.] 2
] Adaptation: A=

Threshold
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] Adaptation: A =
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Threshold
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logC,=-0,350,-u ]2
= (logCy+log )2 log =-0,350,—u.:]2
‘Ba SoBa Adaptation: A- =

Threshold
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input: w/rgb/cmyk —> w/rgb/cmyk

ut: no change
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